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SEfOuE | &EES 18081017 | ERT4 | a1 | FREEMh | —BTER TR
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&5 X 4 B | Fimh oD NDKRES R 4 TIwmALDKE [ F& NDKES K 4 B | Limhools NDKRES LiImhoDLE | B NDKES
(m) (m) (kN/m) EEBf(m) (m) (kN/ ) (m) (m) (kN/m) (m) (m) (kN/ )
P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 4.78 59.60 | =nLs | 0oo ~ 000|177 8.94 st 1.00 | 6.00 ~ 56.03 59.60 | =nst | 5,00 ~ 503 1.77 894
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3m%E{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 533 66.51 | Thst | 000 ~ 0.00| 1.65 8.35 st 1.00 | 6.00 ~ 6.88 66.51 | TN | 6.00 ~ 588 1.65 835
P 100kN/m%E#25| 1.00| 000 ~ 008\ 101.10 |3mZE#BZB| — ~ — — — | 100kN/m%x#%25 | 1.00 | 1250 ~ 1280 101.10 |3mZE#BZ5 - ~ — — —
zhs 1.00 | 008 ~ 786 100.00 | Ths |000 ~ 786| 1.94 9.80 zhs 1.00 | 6.00 ~ 1250 100.00| ZhLS | 5,00 ~ 1280| 1.94 9.80
4 100kN/m%#8z5 | 1.00 | 000 ~ 1.23| 11857 |3mZz#Bz3| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 11220 ~ 1616 11857 |3mE#BZD - ~ — — —
s 1.00 | 1.23 ~ 9.01 100.00 | =nLst | 000 ~ 901|220 11.12 s 1.00 | 5.00 ~ 1120 100.00 | =nhst | 6.00 ~ 1616 2.20 11.12
5 100kN/m%E#8z5 | 1.00 | 000 ~ 1.58| 124.17 |3mZz#Bz3| — ~ — — — | 100kN/m%#B2% | 1.00 | 1056 ~ 1614 124.17 |3m&E#BZ D - ~ — — —
s 1.00 | 1.58 ~ 9.37 100.00 | #nLSt | 000 ~ 937|215 10.86 ThList 1.00 | 5.00 ~ 1056 100.00 | =hst | 6,00 ~ 1614 215 10.86
P 100kN/m%E#8z5 | 1.00 | 000 ~ 1.69| 12588 |3mZz#Bz3| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 11.13 ~ 1887 12588 |3mE#Bzi5d - ~ — — —
zhs 1.00 | 169 ~ 947 100.00 | Fhs | 000 ~ 947|221 11.16 zhs 1.00 | 6.00 ~ 11.13| 100.00 | ZhH | 65,00 ~ 1887| 2.21 11.16
. 100kN/m%E#B25 | 1.00| 000 ~ 232\ 13624 |3mEBZB| — ~ — — — | 100kN/m%E#%25 | 1.00 | 11.01 ~ 2416| 13624 |3mE#BZD - ~ — — —
FhLst 1.00 | 232 ~ 11| 100.00 | FnS | 000 ~ 1011 2.64 12.82 zhLst 1.00 | .00 ~ 1101 100.00 | #nLS | 600 ~ 2416 | 2.564 12.82
P 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.53 56.50 | =nLs | 0.oo ~ 000\ 1.567 7.92 FhLst 1.00 | 6.00 ~ 5.00 56.60 | =nLs | 5,00 ~ 500 1.57 7.92
9 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 547 68.26 | TnLSY | 000 ~ 547 1.84 932 s 1.00 | 6.00 ~ 6.14 6826 | TSt | 6.00 ~ 6.14| 1.84 9.32
10 100kN/mM%#B2. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mMZE#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 6.09 76.33 | s | 0oo ~ 000 1.76 8.90 ThList 1.00 | 5.00 ~ 6.98 76.33 | TN | 6,00 ~ 698 1.76 8.90
11 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/ Mm%z 5 — - ~ — —|3m%iBZ % - ~ — — —
zhs 1.00 | 000 ~ 599 75.05 | FnLS | 000 ~ 599 1.78 9.02 zhs 1.00 | 5.00 ~ 684 75.05 | =t | 600 ~ 684 1.78 9.02
19 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m#E{BZ B - ~ — — —
zhs 1.00 | 000 ~ 452 56.32 | #Fhst | 000 ~ 452 1.91 9.67 zhs 1.00 | .00 ~ 5.00 56.32 | ThS | 5,00 ~ 5.00 | 1.91 9.67
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




